
Equilibrium Problems
• Determine the type of support

• Write forces in ijk notations

• Write position vectors in ijk

• Do cross product to get Moments in ijk

• Since F = 0 and M = 0 you have 6 

equations. Can have at most 6 unknowns

• Convert equations to matrix by writing out 

unknowns across top line of table. Write 

coefficients under unknown and constants on 

RHS.
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Equations
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Variables: M, T, Bz, Ax, Ay, Az



Matrix

M T Bz Ax Ay Az

0 0 1 0 0 0

0 0 0 1 0 0

0 1 0 0 1 500

0 4 0 0 0 -2000

0 -8 0 0 0 0

1 0 0 0 0 0
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